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K+ FhiE 1500m | 500m | 1000m |S>+>2
BB % RRAZF 1 2 1 1
A HBFE PREEAZF 6 1 33 2
=i BA BFRAF 7 3 3
AME #EX V& STSSC 4 7 4
N\ R RRAFRER 2 18 11 5
FER  REK RRAZF 3 17 6
PaER  RENAD (RS2 ysn 5 9 7
BE =K HSC 25 4 14 8
aR 8% FRRAFRER 12 34 9
Al E=RE HEFEREFR 10 5 7 10
BN 2 EER2AF 9 10 11
Bt EX BERER 13 6 22 12
B R RRAZF 8 12 10 13
BAR BEZMT rEES b 31 8 13 14
OB EERZER 11 22 12 15
SN FRRAHFRER 31 11 9 16
I &KX & SSC 18 16 17 17
thE B2 HAMRIRSSC 17 20 15 18
T BA V& DSISSC 21 15 18 19
& R B FERAF 14 14 28 20
TE 28 HHRIRSSC 15 25 16 21
AR BX ITESE 2 yNe2 19 26 23 22
FE Bk R 20 21 31 23
127 NI 51 ITESC 2 yNe2 27 24 21 24
(U] =55} A B REK 31 13 29 25
M= 2 HWBERE—-ROZT 22 31 20 26
wiE =R WEAE—-ROST 23 23 27 27
ar el AEASCOA 16 33 30 28
£ fhr=E RBIR T RS 30 30 19 29
BR &5 HARIRSSC 24 29 26 30
TR B— BINZXE— RED 28 28 25 31
miE A FHARSER 31 19 34 32
Bi5 WX HSC 29 32 24 33
#5/1 BEE [LESSC 26 27 32 34
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